Hampshire Mathematics Team
Multiplication templates

One, ten, five derive...




3 x table

Multiplication and Division Facts

One, ten, five derive...




ocoo 3

_ 009
888 3+3= OOO

338  3+3+3=
3+3+3+3=
3+3+3+3+3=
3+3+3+3+3+43= OOO
3+3+3+3+3+3+3=
3+3+3+3+3+3+3+3=
3+3+3+3+3+3+3+3+3=
3+3+3+3+3+3+3+3+3+3= OOO
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OO0
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OO0

3 X2=
3 X3=
3 X4=
3 X5=

3 X6=
OOO 3 X7=
3 X8=

3 X9=
3 X10=

OO0




Counting in 3s, Multiples of 3

Q00

OQO 3+3=

OO00© 3+3+3=

OOC) 3+3+3+3=

QOO 3+3+3+343=

OOO 3+3+4343+3+3=
QOO® 3+3+3+3+3+3+3=
OOO 3+3+3+3+3+3+3+3=
“‘ 3+3+3+3+3+3+3+3+3=
OOO 3+3+3+3+3+3+3+3+3+3=

3 X1=
3 X2=
3 X3=
3 X4=
3 X5=
3 X6=
3 X7=
3 X8=
3 X9=
3 X10=




Multiples of 3

What is your favourite order for working out these linked facts?

QOO0 .-
OOQO  3x2-=
QO9® :::-
OOC)  3x4=

000 :*-
OO0 3%
3 X7=
oes it
"' 3 X9=
3 X10=

OO0




How many groups of 3 in multiples of 3...?

OO0

OO0
000

OO0
000

500

OO0

3

6

9

12
15
18
21
24
27
30

3+ 3=

6+ 3=

9 +3=

12 + 3=
15 +3=
18 + 3=
21 + 3=
24 + 3=
27 +3=
30 +3=




How many groups of 3 in any number...?

OO0

OO0
000

OO0
000

500

OO0

4

7

10
13
16
19
22
25
28
31

4+ 3=

7 < 3=

10 + 3=
13 =+ 3=
16 =3=
19 + 3=
22 + 3=
25 + 3=
28 +3=
31 +3=




Multiples of 3, 30

3 X1=
3 X2=
3 X3=
3 X4=
3 X5=
3 X6=
3 X7=
3 X8=
3 X9=
3 X10=

30 x1=
30 x2=
30 x3=
30 x4=
30 x5=
30 x6=
30 X7=
30 X8=
30 X9=
30X10=




Dividing into groups of 3, 30

0 3 30
15+ 3= 3+ 3= 9+3= 12+ 3= 21+ 3=
30+ 3= 6+ 3= 18 + 3= 24 + 3= 27 + 3=
I I I I I I I I I I I
0 30 300
150 + 30= 30 + 30= 90 + 30= 120+ 30= 210 + 30=

300 + 30= 60 + 30= 180 + 30= 240 + 30= 270 + 30=



Array

Bar Model:

Number line:

Bar model:

Number line:

3x8=



800x2=1600

0.8x2=1.6

8/10 X2=16/10= 1 6/10

80x2=160

Eg 2x8= 16

o0 200x8=1600
ii 0.2x 8=1.6
44 2/10 X8=16/10= 1 6/10
b 20x 8=160
Bar Model:
8x2=16
16 +2=8
Number line:
N D D N D D D 160 +2=80
0 2 4 6 8 10 12 1416
160 +20=8

Bar model:

-

Number line:

P r 11111
0 8

00O

160 +80=2

Which sets of related facts would be
appropriate for Y3, Y4, Y57
Could pupils adjust the number
lines, bar models to match?
Links to fractions?



Multiples of 3, 0.3

3 X1=
3 X2=
3 X3=
3 X4=
3 X5=
3 X6=
3 X7=
3 X8=
3 X9=
3 X10=

0.3 x1=
0.3 x2=
0.3 x3=
0.3 x4=
0.3 x5=
0.3 x6=
0.3 X7/=
0.3 X8=
0.3 X9=
0.3 X10=




Multiples of 3/10, 0.3

3/10 X1= 0.3 x1=
3/10 X2= 0.3 x2=
3/10 X3= 0.3 x3=
3/10 X4= 0.3 x4=
3/10 X5= 0.3 x5=
3/10 X6= 18/10= 1s/10 0.3 x6=
3/10 X7= 0.3 X7=
3/10 X8= 0.3 X8=
3/10 X9= 0.3 X9=
3/10 X10= 0.3 X10=

I I I I I I I I I | I

0 3/10 3




Dividing into groups of 0.3, 3

0 0.3 3
3/10 30/10
1.5+ 0.3= 0.3 +0.3= 1.2 +0.3= 0.9+ 0.3= 2.1+ 0.3=
3= 0.3= 060 3= 2.4+0.3= 1.8+ 0.3= 2.7+0.3=
| | | | | |
3 30
15 + 3= 3+3= 12 + 3= 9+ 3= 21+ 3=
30 + 3= 6+ 3= 24 =+ 3= 18 + 3= 27 + 3=



Dividing into groups of 0.3, 3, 30,

0 0.3 3
3/10 30/10
1.5+ 0.3= 0.3 +0.3= 1.2 +0.3= 0.9+ 0.3= 2.1+ 0.3=
3+ 0.3= 0.6 = 0.3= 2.4+0.3= 1.8 +0.3= 2.7+0.3=
I I I I I I I I I I I
0 3 30
15 + 3= 3+3= 12 + 3= 9+ 3= 21+ 3=
30 + 3= 6+ 3= 24 + 3= 18 + 3= 27 + 3=
I I I I I I I I I I I
0 30 300
150 + 30= 30 + 30= 90 + 30= 120+ 30= 210 + 30=

300 + 30= 60 + 30= 180 + 30= 240 + 30= 270+ 30=



3X1=3

15

18

21

24

27

30
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3X2=6




3X3=9




3X4=12

I I I I
0 3 6 9

I I I I
12 15 18 21 24 27 30



3X5=15

I I I I I
0 3 6 9 12

I I I
15| 18 21 24 27 30



corsleciocioces

3X6=18

o of off o o o8

I I I I I I I I I
0 3 6 9 12 15 |18 21 24 27 30




FACR eA R R pH e

3X7=21

o of off o o o o

I I I I I I I I I
0 3 6 9 12 15 18 |21 24 27 30




AR A e R A R e

3X8=24

o of off o o o8 o o8

I I I I I I I I I I
0 3 6 9 12 15 18 21 27 30




AR R e R R R e o

3X9=27

o of off o o o o o o

I I I I I I I I I I
0 3 6 9 12 15 18 21 24 30




AR eR A R rR R eR e

3X10=30

o of off o o o o o8 o o8

I I I I I I I I I I
0 3 6 9 12 15 18 24




3.3

3X1=3




Gh6 Sbb
o 3 |6 b 15 18 21 24 27 30




3X3=9

Bht aht Ghhk

I I I
0 3 6 9




Bht htt GGk Ghb

3X4=12

Bht okt Gtk Ghk

I I I I
0 3 6 9 12




tht htt Ghh Rt BEhk

3X5=15

Gt Ghh ahh btk Bhk

I I I I I
0 3 6 9 12 |15




Ght hht Gtk Rt hht Ghk

3X6=18

Ghh hhh hht Ghh Ghh GhE

I I I I I I
0 3 6 9 12 15 |18




Bht htt Gk Ght hht Ghk Ghb

3X7=21

bhh hhh hht Ghh Ghh Gkt Ghk

I I I I I I I
0 3 6 9 12 15 18 |21




bht htt hhh Ght hht Ghh GhE BEhk

3X8=24

Ghh hhh bt Ghh Ghh GhE Ghk GEk

I I I I I I I I
0 3 6 9 12 15 18 21 |24




bttt bbb bbb &

bt Gtt Gk

3X9=27

Ghh hhh bt Ghh hhh Ght Ghbk Ghh Ghb

I I I I I I I I I
0 3 6 9 12 15 18 21 24 |27




Ght et Gk &

bt Ght hht GhE Gt GhE Ghb

3X10=30

Ghh hhh bt Ghh hhh Ght Ghh Ghh GhE Ghk

I I I I I I I I I I
0 3 6 9 12 15 18 21 24 27 |30




